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CO2 =

qA =((FT-AT) + B ) - Kk

A2

O2ref - O2

CO2max x(O2ref - O2)

O2ref



= 100 - qA

= 1+ x  

NOx = NO +(NO2Add. x NO)

uCO = CO x 

ATP =

v = 

V  = v x a

x 
575 x P x(FT + 273.15)

Pabs 

) x 234.175

) - 17.08085

FH20 x PAbs

610.78

FH20 x PAbs

610.78

ln(
ln(

CO

2

CO

2

O2 -

O2ref - O2 +

VAGtrMin

VLMin



MCO = CO x FGas x 1.25 x Z

MNOx = NOx x FGas x 2.05 x Z

MSO2 = SO2 x FGas x 286 x Z

x 3600

CO x CO x 1.25

NOx x NOx x 2.05 

SO2 x SO2 x 286

O2ref - O2Bez

O2ref - O2

O2ref - O2Bez

O2ref - O2

O2ref - O2Bez

O2ref - O2

273.15 x Pabs 

273.15 +T x 1013
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